C-25

F= 1.000 T= 23000. NTOT=3.1SE 17 DEBYE=2.54E-06 LAMBDA=1.40E 02 LNLMBD= 4.94
N1=1.69722E 17 N2=1.S5079E 15 N3=1.25151E 17 N4=2.22827E 16 N5=1.83388E 12
B CM-TAU SIG-1 SIG-2 DT=1 DT=2 LAM-1 LAM=-2
Q. 0.CCE-C1 1.C7E 02 0.00E-01 8.34E-07 0.00E-01 3.24E 01 0.00E-01
500. -1.22E-02 1.C7E 02 2.52F 0O 8.33E-07 3.03E-08 3.24E 01 6.24E-C1
1000. =-2.44E-02 1.07E 02 5.02E 00 8.30E-07 6.03E-08 3.24E 01 1.25E 00
2500. =-6.10E-02 1.05E 02 1.24E Ol 8.11E-07 1.48E-07 3.,21E 01 3.09E 00
5000. =-1.22E-C1 1.01E 02 2.36E Ol T.4TE-07 2.77E-07 3.12E 01 5.98E 00
75C0. -1.832E-Cl1 9.47FE 01 3.29E 01 6.56E-07 3.T4E-07 2.98E 01 B8.51E 0O
10000. =-2.44E-Cl1 B8.72E 01 3.99E 01 5.55E-07 4,36E-07 2.80E Ol 1.06E 01
25000. -6.10E-C1l 4.74E 01 5.03E 01 1.27E-07 4.0TE-07 1.71E 01 1.49E C1
50000. =-1.22E CO 2.01E 01 3.85E Q1 ~-2.89E-08 2.13E-07 B8.55E 00 1.23E 01
100000. =2.44E CO 7.09E 00 2.32E 01 =-4.62E-08 7.86E-08 3.91E 00 B8.26E 00
150000. =-3.66E 00 3.72E 00 1.65E 01 -3.50E-08 3.66E-08 2.30E 00 6.30E 00

P= 1.000 T= 24000.

B oM-TAU SIG-1

0. 0.0CE-C1 1.05E

500. =-1.1SE-C2 1.05E
1000. =2.37E-02 1.05E
ZSCOQ -SOQBE-OZ loO“E
5000, =-1.19E-C1l 9.S4E
75C0. =-1.78E-Cl G.31E
10000, =-2.37E-C1 E&.58E
25000 =5.93E-01 4.71E
50000. =-1.19E 00 2.01E
100000. =2.37E 00 7.1l7E
150000. =-3.56E Q0 3.78E

P= 1.000 T= 2:000.

B OM-TAU SiG-1

0. 0.00E-01 1.03E

500. =-1.15E-02 1.03E
16C0. =2.30E-C2 1.03E
25C0. =5.74E-02 1.02E
5000. =-1.15E-01 S.77E
7500 =1.72E-01 9.1l7E
10000. =-2.30E-C1 8.46E
25000, =5.74E-Cl 4.69E
500CC. =-1.15E €CC 2.03E
100000. =-2.3CE CO 7.29E
1500C0. =-3.44E 00 3.87E

P=

B
0.
500.
1000.
2500.
5000.
1500.
10000.
25000.
5000C.
100000.
150000.

1.000 T= 260C0.

CM-TAU

0.00E-01
-1.13E-02
-2.25E-02
-5.63E-02
=la12E=D1
-1.6SE-01
-2.2%5€E-C1
-5,63E-C1
-1.13E CO
-2.2%E CO
-3.38E €O

SiG-1
1.02E
1.02E
1.02E
1.01E
S.6SE
9.09E
€.39E
4.6TE
2.03E
T34E
3.91E

02
02

02
02
02
02
01

SIG-2
0.00E-01
2 .46E
4.91E
1.21E
2.30E
3.21E
3.90E
4.93E
3.80E
2.30E
1.64E

ol
01

S1G6-2
0.00E-01
2.39E
4.TTE
1.18E
2.24E
3.12E
3.79E
4 .84E
3.76E
2.29E
1.63E

01
01

SIG-2
0.00E-01
2.37E
4,.T2E
1.16E
2.22E
3.09E
3.75E
4.78E
3.74E
2.28E
1.63E

DT-1
8.82E-07
8.81E-07
8. 78E-07
8.57E-07
7.88E-07
6.926-07
5.84E-07
1.34E-07

-2.90E-08
-4,83E-08
-3.69E-08

DT-1
9.28E’07
9.,27€E-07
9.23E-07
9.02E-07
8.29&'07
7.28E=-07
6.15E-07
1.44E-07

-2.82E-08
-5.04E-08
-3.90E-08

DT-1
9.78E—°7
9.77E-07
9.74E-°7
9.50E-07
8. 73E-07
T.65E=-07
6.45E-07
1.51E-07

-2.85E-08
-5.26E-08
-4,10E-08

Di=2
0.00E-01
3.21E-08
6.41E-08
1.57E-07
2.93E-07
3.96E-07
4.61E-07
4,28E-07
2.24E-07
8.37E-08
3.92E-08

DT-2
0.00E~-01
3038E_08
6.T4E-08
1.65E-07
3.08E-07
4,15€E-07
4,49E-07
2.38E-07
8.97E-C8
4,23E-08

0T-2
0.00E-01
3.59E-08
7.16E-Q8
1.75E-Q7
3.27E-07
4.39E-07
5.11E-07
4.T1E-07
2.49E-Q7
9.48E-C8
4.49E-08

NTOT=3.06E 17 DEBYE=2.60E-06 LAMBDA=1.49E 02

LAM-1

3 .44E
3.44E
3.44E
3.41E
3.30E
3.14E
2.95E
1.77E
8.81E
4.04E
2.39E

NTOT=2.94E 17 DEBYE=2.65E-06 LAMBDA=1.58E 02

LAM-

3. 64E
3.64E
3.63E
3.60E
3. 48E
3.31E
3.10E
1.84E
9.10E
4.20E
2.49E

NTOT=2.82E 17 DEBYE=2.70E-06 LAMBDA=1.68E 02

LAM-1

3.85E
3.85E
3.84E
3.80E
3.68E
3.49E
3.25E
1.90E
9.37E
4,34E
2.59E

1

LNLMBD= 5,01
N1=1.69410E 17 N2=1.33077E 15 N3=1.00739E 17 N4=3.43247E 16 N5=7.23838E 12

o1

LAM-2
D.00E-01
6.81E-01
1.36E
3.37E
6.51E
9.24E
1.15E
1.58F
1.28E
8.59E
6.55E

LNLMBD= 5.07
N1=1.69821E 17 N2=8.78015E 14 N3=7.59638E 16 N4=4.68934E 16 N5=2.34849E 13

01
01
0l
01
ol

LAM-2
0.00E-01
7T.34E-01
1.47E 00
3.63F 00
7.00E 00
9.92E 00
1+23E 01
1.67E 01
1.34E 01
8.94E 00
6.81F 00

LNLMBD= 5.12
N1=1.6G83GE 17 N2=5.55171E 14 N3=5,40130E 16 N4=5.78162E 1b N5=6.46195E 13

01
01
ol
01
01
01
01
oi
00
00
00

LAM=-2
2.00€E-01
7 .96E-01
1.59E 00
3.93E 00
7.57TE 00
1.07E 01
1.32E 01
1.77E 01
1.40E 01
9.28E 00
7.08E 00



C-26
NTOT=1.22E 1S DEBYE=1.06E~-01 LAMBDA=7.60E 05 LNLMBD=13.54%

N1=1.27513E €7 Ng=1.22325E 19 N3=1.27513E 07 N

P= 5.00C T= 300C.
B CM=-TAL Sic—-1
Qe OOOOE-OI 2-67E‘07
5C00. =2.14E-01 1.42€E-07
1000. =-4.29E-C1 7.77E-08
2500. =-1.C7E CO 2.51E-08
5000. =-2.14E CO 1.04E-08
75€0. =-3.21FE GO 5.75E-09
10000. -4.2SE 00 3.61E-09
25000. -=1.C7E Cl1 7.03E-10
50000, =-2.14FE C1 1.86E-10C
100000, =-4.2SE Q1 4.74E-11
1500€0. =-6.43E 01 2.1l1E-11
P= 5.000 T= 4000.
N1=2.84648E 10
B CM=-TAL SIG-1
0. 0.00E-01 5.68E-04
500. =1.66E-01 2.85E-04
1000. =-3.33E-C1 1.69E-04
2500. =8.32E=C1 5.72E-05
50C0. =-1.66E €O 2.50E-05
7500, =-2.4SE 00 1.47E-05
10000. =3.33E CO 9.58E-06
250000 -80325 co 1.97E‘06
500C0. =-1.66E 01 £.30E-07
100000. -3.33E Cl1 1.36E-07
1500€C0. =-4.S9E C1 6.07E-08
P= 5.000 T= 50C0.
N1=2.95028E 12
B CF¥-TAU SIG-1
0. 0.00E-01 5.02E-02
500. -1.38E-01 2.58E-02
L0Q0s =2 16E=C1 1,712E-02
2500. =-6.50E-01 6.32E-03
5000 =-1.38E 00 2.77E-03
1500,  =2.C7E 00 1.67E-03
100C0., =-2.76E CO 1l.11E-03
250C0. =-6.SCE CO 2.41E-04
50000. -1.38E 01 6.56E-05
100000. =-2.76E Q1 1.69E-05
150000, =-4.14E Cl1 7.57E-06
P= 5.C0C T= 6000,
N1=€.57919E 12
B OM-TAU SIG-1
0. OOCCE-OI 6.09E‘01
500. =-l.16E-C1 4.35E-01
1000. =-2.32E-01 3.51E-01
2500. =5.79E-C1 1.64E-01
5000. =-1.16E 00 7.12E-02
75C0., =-1.74E 00 4.23E-02
10000. =-2.22E CC 2.83E-02
25000. =5.76E CO 6.27E-03
50000. -l.16E 01 1.73E-02
100000, =2.32E 01 4.48E-04
150C00. -3.48E C1 2.01E-04

STE=2
0.00E-0C1
9.13E-08
9 .42E-08
5.61E-08
3.35E-08
2.42E-08
1.89E-08
8.02E-C9
4.06E-09
2.04E-09
1.36E-09

SIG-2
0.CO0E-O1
1059E-04
1.80E'04
1.15E-04
6.96E-05
512705
4.,05E-05
1.77€E=C5
9005E‘06
4.55E-06
3.04E-06

SIG-2
0.00E-01
1.15E-02
1.48E‘02
1.09E-02
6.83E-03
5.08E-03
4,06E-03
1.82E-03
9.35E-04
4.T1E-04
3.15E-04

SI1G-2
0.00E-01
2.,20E-01
2.54E-01
2.07E-01
1.43E-01
1.09E-01
8.79E-02
4.02E-02
2.08E-02
1.05E-02
7.01E-03

D=1
-4.,08E-16
-1.58E-16
~6.24E-17

8.15E-18
1.33E=17
S«S3E=18
6-78E-18
1.73E~18
5.00E-19
1431E=19
5.89E-20

DT-1
-1.36E-12
~4.,66E-13
~2se0E=23

3.94E-15
3.58E-14
2+93E=14
2+s19E=14
6.02E-15
1.81E-15
4.85E-16
2.18E-16

N2=7.33G49E 18 N3=2.95028E 12 N

D%~}
-1l.54E-10
-5.41E-11
-3.09E-11
-2.44E-12

3.69E-12
3«5 5F=12
2+83E-12
8. 52 k=13
2.66E-13
T.25E-14
3. 28E-1%

DT-1
-1.60E-09
-1.01E-09
-7.49E-10
-1+80E-10

4.66E-11
T.26E-11
6.59E-11
2.32E-11
T.60E~12
2.11E-12
9.62E-13

DT=2

0.00E-01
-2.00E-16
=1.39E=16
=B 22E=17
=2+.24E-17
=1 05E=177
-5.89E-18
-T-.37E-19
=1 15E=19
-1.54E-20
~463E=21

DT-2.

0.00E-01
-6,02E=13
-4.11E=13
-1.96E-13
-7.87E-14
~3.89E-14
-2.22E-14
-2.97E-15

~4.93E-16
.-6080E-17

-2.06E-17

DT-2
0.00E~01

=6.93E=11

-4,96E=11
=-2.49E-11
=1+ 10E-T1
=Bt 2E=12

=35 ITE="12

-4.7T8E-13

~-8+.35E-14

-1.18E-14
-3.60E-15

DT-2.

0.00E=01
-7.05€=10
-8,28E~10
-5.55E-10

=2:95E~10

-1.65E-10
-1.00E-10
=15 2E~11
=2+ 76E~=12

-4.01E-13
~1%23E~13

LAM-1
4 .21E-09
3e25E~09
2.47E-09
1.74E-09
9.4OE-10
5.71E~-10
3.91E-10
1.04E-10
3s12E=11
B e2TE=12
Set2E=12

LAM-1
1.11E-05
8.55E-06
6.58E~06
4.745-06
2.83E-06
1.78E‘06
1.23E-06
34 45E=07
1.09E-07
2.97E-08
1.34E-08

LAM-1
1.10E-03
1.00E-G3
7.90E-04
5.61E-04
3-635-04
2 .38E-04
1.67E-04
4 .83E-05
1.60E-05
40456-06
2.02E-06

LAM-1

1.58E-02
1.63E-02
1.63E-02
1.32E-02
9.45E-03
6 +59E-03
4.76E-03
1.42E-03
4 .80E-04
1.36E-04
6.22E-05

LAM-2
0.00E-01
1.30E-09
l.47€-09
1.36E-D9
1.16E-09
9.68E-10
8.11E~10
4.07E-10
2.20E-10
1.13E-10
7.55F-11

NTOT=G.17E 18 DEBYE=2.59E~-03 LAMBDA=2.48E 04 LNLMBD=1D.12
N2=9.17437E 18 N3=2.84648E 10 N

LAM-2
0.00E-01
3.33E-06
3.74E-06
3.50E-06
2.97E=-06
2.63E-06
2.25E-06
3.34E-07
2 .24E-07

NTOT=7.34F 18 DEBYE=2.84E-04 LAMBDA=3.40E 03 LNLMBD= 8.13

LAM-2
0.00F=01
S =0l
4.01E-04
3.97E-04
3.32E-04
3.09E-C4
2.72E-04
1.46E-04
8.22E-05
4.31E-05
2.90E-05

NTOT=6.12E 18 DEBYE=6.59E-05 LAMBDA=9.47E 02 LNLMBD= 6.85
N2=6.,11612E 18 N3=6.57919E 13 N

LAM-2
0.00E-01
1.19E-83
2.80E-03
6.26E-03
T.16E-03
7.18E-03
6.60E-03
3.78E-03
2.17E-03
1.15€-23
T.T4E=-04



